SHOEE F4E GBR) FHE BHERRRK

BEEFH INEER EES
yOE & = 7 96 13.7
TR & = 116 1,763 15.2
& F 123 1, 859 15.1
FE —RiEwFEE
a—Fr FEE4 BEEFHR BEER LEE Y
A1 7061 HEF (20K 2 30 15.0
N F 2 30 15.0
FE BHF - FECHERAT
a—Fr EE4 BEEFH INEES EES
C1 7060 HESF 3 0 0.0
N B 3 0 0.0
FE BHEERD
a—F EE4 BEEFH INEER EES
E1 7062 B&F (10K 2 66 33.0
N B 2 66 33.0

R —REFEGT

a—FK F=E4 BRFH | BBER RS
1021 A (20K) 1 48 48.0
2101 TR 2 17 8.5
2211 /i (2DK) 1 17 17.0
2300 AR BT 3 55 18.3
2421 % (20K) 1 26 26.0
2700 BINEES 1 1 9 9.0
2730 FEIn#ESE 2 1 1 1.0
2740 Fn#EE 3 1 1 1.0
2820 NEES 1 2 2.0
3210 AR K 1 45 45.0
4891 AKE 1 5 5.0
6101 EEM 1 3 3.0
6221 PHEEE 1 29 20.0
6400 ARR 1 3 3.0

N F 17 261 15. 4




TR —EEE (3ALKL)

TR HF - FETCHERANG

a—F FEEL BEEFHR BEER LEE Y

B 1501 RET A C 1 14 14.0
B 1900 B LERT 2 4 20.5
B 2100 TR 2 13 6.5
B 2750 gy E e 1 0 0.0
B 2880 U\ P 1 7 7.0
B 3110 LB A 1 10 10.0
B 4750 Browrrg 1 2 2.0
B 4820 ARFH 1 0 0.0
B 4871 AKRRB 1 1 1.0
B 4890 AKH 4 1 0.3
B 4011 K 1 9 9.0
B 6100 EZE 2 4 2.0
B 6221 hHEESE 5 12 2.4
N F 23 114 5.0

a—F FEEL BEEFE EEE (=S
C 1900 B EHT 1 30 30.0
C 2100 TR 1 8 8.0
C 2300 ST 3 26 8.7
C 2420 Ahig 1 9 9.0
C 4750 Brawere 1 1 1.0
C 6100 EEM 1 0 0.0
N F 8 74 9.3

TR HEAGT (FE - DEEREHE)
a—Rk EE2 BRFH | BEEXK RS
D 1120 % H 1 14 14.0
D 1330 PRI 3R 1 34 34.0
D 1340 [ 3 1 22 22.0
D 2300 ST 2 25 12.5
D 4010 =F 1 9 9.0
D 4631 T4 HET 2 66 33.0
D 4910 IR (20K) 1 9 9.0
D 5030 oA T 1 4 4.0
D 6221 PHEEE 2 42 21.0
A 12 225 18.8




ER BEERT

a—k Bes BEFW | EEK | A%
E 1340 BRI 1 46 46.0
E 1412 K& (1DK) 3 203 67.7
E 2422 HE (1DK) 2 68 34.0
E 4300 L4EZE (3DK) 1 17 17.0
E 4432 *& (1DK) 1 84 84.0
E 4502 ¥4 (3DK) 3 16 5.3
E 4800 AR (3DK) 2 2 1.0
E 4801 AR (3DK) 77007y 1 0 0.0
E 4850 HAR 1 5 5.0
E 4852 BHA#E (30K 1 3 3.0
E 4924 AE (1DK) 1 2 2.0
E 5301 = (3DK) 1 6 6.0
E 5302 =il (3K) EVAaL 1 2 2.0
E 5600 ARE 2 4 2.0
E 5602 EEE1 (30K) 2 4 2.0
E 5610 BRE2 2 2 1.0
E 5632 BRE2 (1K) 2 33 16.5
E 6232 FES (10K 1 103 103.0

2N Bt 28 600 21. 4

R BEHEFEEND (6 OmXiE) (BRERFRD
a—~Fk EE£ BEEFE | BEEHR (=S
F 4502 #E (3DK) 1 9 9.0
F 5700 AN Eict 1 0 0.0
N 1 2 9 4.5

TR VIN—NTT VY (BEERAIT)

a—R F=E4 BEEFH | BEEH EES
S 1 1240 g4 v AP () 1 n 7.0
S1 1900 B BT 1 82 82.0
S 1 2420 aHiS 1 69 69.0
S1 3500 LTEERER 1 57 57.0
S1 4820 AKFE 2 27 13.5
S 1 5240 | 7S UT4—LEE (B 2 5 2.5
S1 5310 EETHRAR (B 1 17 17.0
S1 6340 TEFIRE 1 45 45.0
S1 6410 |T«435-ThrU—ARR () 2 8 4.0
S1 7040 |YrSILEETE (8) 1 32 32.0
nNF 13 413 31.8




TR VIIANR=NDTVH (HERIT)

a—~R EE4 EEFE | BEEER L= S
S2 | 2880 INEE 3 17 5.7
S2 | 3500 AR 3 2 10 5.0
S2 | 3600 O () 1 0 0.0
S2 | 4631 FAE4HT 2 15 7.5
S2 | 4820 AKES 1 3 3.0

N E 9 45 5.0
TR BHHER (EF@EE)

a—Fk EE4 BEFH IEEE 5=
H2 | 2300 SERT 1 9 9.0
H2 | 2860 B2 1 1 1.0
H2 | 4421 *ERE (2K) 1 10 10.0

N E 3 20 6.7
TR WHAER (HERED) (3 AME)

a—Fk EE4 BEFH IEEE 5=

H3 | 4890 ARKE 1 2 2.0
N E 1 2 2.0




